Journal of Linear and Topological Algebra Vol. 11, No. 03, 2022, 169-176 DOR: 20.1001.1.22520201.2022.11.03.2.7 DOI: 10.30495/JLTA.2022.695231



A log-convex approach to Jensen-Mercer inequality

S. M. Davarpanah^{a,*}, H. R. Moradi^b

^aDepartment of Mathematics, Ferdows Branch, Islamic Azad University, Ferdows, Iran. ^bDepartment of Mathematics, Payame Noor University (PNU), P.O. Box, 19395-4697, Tehran, Iran.

Received 25 July 2022; Revised 6 September 2022; Accepted 15 September 2022.

Communicated by Ghasem Soleimani Rad

Abstract. We obtain some new Jensen-Mercer type inequalities for log-convex functions. Indeed, we establish refinement and reverse for the Jensen-Mercer inequality for log-convex functions. Several new Hermite-Hadamard and Fejér types of inequalities are also presented.

 $\label{eq:Keywords: Inequality, Jensen-Mercer, Fejér inequality, Hermite-Hadamard inequality, log-convex function.$

2010 AMS Subject Classification: 26A51, 26D15.

1. Introduction and Preliminaries

Lately, the theory of convexity has welcomed considerable attention from many researchers. The interconnection between the theory of convex functions and inequalities has tempted many researchers [7–10]. Accordingly, the classical concepts of convex sets and functions have been extended and generalized in several approaches using novel and clever ideas. One of the most broadly studied inequalities for convex functions is Jensen inequality. Suppose that $f : J \to \mathbb{R}$ is a convex function and $J \subseteq \mathbb{R}$ is an interval. Jensen's inequality states that

$$f\left(\sum_{i=1}^{n} w_i x_i\right) \le \sum_{i=1}^{n} w_i f\left(x_i\right),\tag{1}$$

© 2022 IAUCTB. http://jlta.iauctb.ac.ir

^{*}Corresponding author.

E-mail address: davarpanah@ferdowsiau.ac.ir, ana.kamali.gh@gmail.com (S. M. Davarpanah) hrmoradi@mshdiau.ac.ir, hrmoradi.68@gmail.com (H. R. Moradi).

where $x_i \in J$ for i = 1, 2, ..., n and $w_1, w_2, ..., w_n$ are positive scalars such that $\sum_{i=1}^n w_i = 1$. Mercer [5] proved that if $f : [m, M] \to \mathbb{R}$ is a convex function and $x_i \in [m, M]$ (i = 1, 2, ..., n), then

$$f\left(M + m - \sum_{i=1}^{n} w_i x_i\right) \le f(M) + f(m) - \sum_{i=1}^{n} w_i f(x_i).$$

The function $f: J \to (0, \infty)$ is called log-convex if

$$f((1-t)a+tb) \le f^{1-t}(a) f^{t}(b); \ (a,b \in J, t \in [0,1]).$$

This follows from the fact that $f: J \to (0, \infty)$ is log-convex if log f is convex. So, Jensen inequality (1) for log-convex functions can be written as

$$f\left(\sum_{i=1}^{n} w_i x_i\right) \le \prod_{i=1}^{n} f^{w_i}(x_i).$$

$$\tag{2}$$

The Hermite-Hadamard inequality [3] says that if a function $f: J \to \mathbb{R}$ is convex, then the following chain of inequalities holds:

$$f\left(\frac{a+b}{2}\right) \leq \int_{0}^{1} f\left(\left(1-t\right)a+tb\right) dt \leq \frac{f\left(a\right)+f\left(b\right)}{2},$$

where $a, b \in J$. This inequality has been generalized by Fejér [2] as

$$\int_{0}^{1} p(t) dt f\left(\frac{a+b}{2}\right) \le \int_{0}^{1} p(t) f((1-t)a+tb) dt \le \int_{0}^{1} p(t) dt \frac{f(a)+f(b)}{2},$$

where $p: [0,1] \rightarrow [0,\infty)$ is continuous and p(t) = p(1-t).

Using an utterly different approach from the one in the literature, we present a refinement of Jensen-Mercer inequality for log-convex functions. Our technique allows us to obtain complementary inequalities to Mercer's inequality. Hermite-Hadamard type and Fejér type inequalities for this class of functions are also presented.

2. Jensen-Mercer Inequality via Log-convex Functions

If $f: J \to (0, \infty)$ is log-convex, then Jensen-Mercer inequality [6] says that

$$f\left(M + m - \sum_{i=1}^{n} w_i x_i\right) \le \frac{f(M) f(m)}{\prod_{i=1}^{n} f^{w_i}(x_i)}.$$
(3)

Our first attempt in this section is to provide a modification of (3). To this end, we require the following result.

Theorem 2.1 Let $f : [m, M] \to (0, \infty)$ be a log-convex function and let $x_i \in [m, M]$ for i = 1, 2, ..., n. Then

$$f\left(M+m-x_{i}\right) \leq \left(\frac{f\left(\frac{M+m}{2}\right)}{\sqrt{f\left(M\right)f\left(m\right)}}\right)^{2\left(1-\left|\frac{M+m-2x_{i}}{M-m}\right|\right)} \frac{f\left(M\right)f\left(m\right)}{f\left(x_{i}\right)}$$

Proof. If $f: J \to (0, \infty)$ is a convex function and $a, b \in J$, then

$$f((1-t)a+tb) \le (1-t)f(a) + tf(b) - 2r\left(\frac{f(a)+f(b)}{2} - f\left(\frac{a+b}{2}\right)\right), \quad (4)$$

where $r = \min\{t, 1-t\}$ and $0 \le t \le 1$ [1]. It follows from the inequality (4) that

$$f\left(\left(1-t\right)a+tb\right) \le \left(\frac{f\left(\frac{a+b}{2}\right)}{\sqrt{f\left(a\right)f\left(b\right)}}\right)^{2r} f^{1-t}\left(a\right) f^{t}\left(b\right)$$

$$\tag{5}$$

provided that $f: J \to (0, \infty)$ is log-convex. If $m \leq x_i \leq M$ for i = 1, 2, ..., n, then $0 \leq \frac{x_i - m}{M - m}, \frac{M - x_i}{M - m} \leq 1$. Now, by replacing 1 - t, t, a, and b by $\frac{x_i - m}{M - m}, \frac{M - x_i}{M - m}, M$, and m, respectively, in (5), we obtain

$$f(x_i) = f\left(\frac{x_i - m}{M - m}M + \frac{M - x_i}{M - m}m\right)$$

$$\leq \left(\frac{f\left(\frac{M + m}{2}\right)}{\sqrt{f(M)f(m)}}\right)^{1 - \left|\frac{M + m - 2x_i}{M - m}\right|} f^{\frac{x_i - m}{M - m}}(M) f^{\frac{M - x_i}{M - m}}(m).$$
(6)

Here we used the fact that $\min \{a, b\} = \frac{a+b-|a-b|}{2}$ for $a, b \in \mathbb{R}^+$. On the other hand, if $m \le x_i \le M$, for i = 1, 2, ..., n, then $m \le M + m - x_i \le M$. So by replacing x_i by $M + m - x_i$ in (6), we get

$$f(M+m-x_{i}) \leq \left(\frac{f\left(\frac{M+m}{2}\right)}{\sqrt{f(M)f(m)}}\right)^{1-\left|\frac{2x_{i}-M-m}{M-m}\right|} f^{\frac{M-x_{i}}{M-m}}(M) f^{\frac{x_{i}-m}{M-m}}(m).$$
(7)

Multiplying inequalities (6) and (7) together, we have

$$f(x_i) f(M + m - x_i) \le \left(\frac{f(\frac{M+m}{2})}{\sqrt{f(M) f(m)}}\right)^{2(1 - \left|\frac{M+m-2x_i}{M-m}\right|)} f(M) f(m),$$

for i = 1, 2, ... So,

$$f(M + m - x_i) \le \left(\frac{f\left(\frac{M + m}{2}\right)}{\sqrt{f(M)f(m)}}\right)^{2\left(1 - \left|\frac{M + m - 2x_i}{M - m}\right|\right)} \frac{f(M)f(m)}{f(x_i)}.$$

This finishes the proof.

Now, we present an improvement of (3).

Corollary 2.2 Let $f : [m, M] \to (0, \infty)$ be a log-convex function and let $x_i \in [m, M]$ for i = 1, 2, ..., n. Then

$$f\left(M+m-\sum_{i=1}^{n}w_{i}x_{i}\right) \leq \prod_{i=1}^{n} \left(\frac{f\left(\frac{M+m}{2}\right)}{\sqrt{f(M)f(m)}}\right)^{2w_{i}\left(1-\left|\frac{M+m-2x_{i}}{M-m}\right|\right)} \frac{f(M)f(m)}{f^{w_{i}}(x_{i})}$$

where w_1, w_2, \ldots, w_n are positive scalars such that $\sum_{i=1}^n w_i = 1$.

Proof. We have

$$f\left(M+m-\sum_{i=1}^{n}w_{i}x_{i}\right)$$

$$=f\left(\sum_{i=1}^{n}w_{i}\left(M+m-x_{i}\right)\right)$$

$$\leq\prod_{i=1}^{n}f^{w_{i}}\left(M+m-x_{i}\right)$$

$$\leq\prod_{i=1}^{n}\left(\frac{f\left(\frac{M+m}{2}\right)}{\sqrt{f\left(M\right)f\left(m\right)}}\right)^{2w_{i}\left(1-\left|\frac{M+m-2x_{i}}{M-m}\right|\right)}\frac{f\left(M\right)f\left(m\right)}{f^{w_{i}}\left(x_{i}\right)},$$

where the first inequality follows from (2) and the second inequality is obtained from Theorem 2.1.

Remark 1 Since for any log-convex function f,

$$f\left(\frac{M+m}{2}\right) \le \sqrt{f(M)f(m)}$$

and

$$1 - \left|\frac{M + m - 2x_i}{M - m}\right| \ge 0,$$

when $x_i \in [m, M]$ (i = 1, 2, ..., n), we get

$$\prod_{i=1}^{n} \left(\frac{f\left(\frac{M+m}{2}\right)}{\sqrt{f\left(M\right)f\left(m\right)}} \right)^{2w_i\left(1 - \left|\frac{M+m-2w_i}{M-m}\right|\right)} \le 1.$$

For the counterpart of Theorem 2.1, we have

Proposition 2.3 Let $f : [m, M] \to (0, \infty)$ be a log-convex function and let $x_i \in [m, M]$ for i = 1, 2, ..., n. Then

$$\frac{f(M)f(m)}{f(x_i)} \le \left(\frac{\sqrt{f(M)f(m)}}{f\left(\frac{M+m}{2}\right)}\right)^{2\left(1+\left|\frac{M+m-2x_i}{M-m}\right|\right)} f(M+m-x_i).$$

Proof. If $f: J \to (0, \infty)$ is a convex function and $a, b \in J$, then

$$(1-t) f(a) + tf(b) \le f((1-t)a + tb) + 2R\left(\frac{f(a) + f(b)}{2} - f\left(\frac{a+b}{2}\right)\right)$$

where $R = \max\{t, 1-t\}$ and $0 \le t \le 1$ [1]. So, if $f: J \to (0, \infty)$ is log-convex, we conclude that

$$f^{1-t}(a) f^{t}(b) \leq \left(\frac{\sqrt{f(a) f(b)}}{f\left(\frac{a+b}{2}\right)}\right)^{1+|2t-1|} f\left((1-t) a + tb\right),$$
(8)

due to max $\{a, b\} = \frac{a+b+|a-b|}{2}$ for $a, b \in \mathbb{R}^+$. By replacing 1-t, t, a, and b by $\frac{x_i-m}{M-m}$, $\frac{M-x_i}{M-m}$, M, and m, respectively, in (8), we get

$$f^{\frac{x_i-m}{M-m}}(M) f^{\frac{M-x_i}{M-m}}(m) \le \left(\frac{\sqrt{f(M)f(m)}}{f\left(\frac{M+m}{2}\right)}\right)^{1+\left|\frac{M+m-2x_i}{M-m}\right|} f(x_i).$$
(9)

By substituting x_i by $M + m - x_i$ in (9), we get

$$f^{\frac{M-x_{i}}{M-m}}(M) f^{\frac{x_{i}-m}{M-m}}(m) \leq \left(\frac{\sqrt{f(M)f(m)}}{f\left(\frac{M+m}{2}\right)}\right)^{1+\left|\frac{2x_{i}-M-m}{M-m}\right|} f(M+m-x_{i}).$$
(10)

Multiplying inequalities (9) and (10), together, we have

$$f(M) f(m) \le \left(\frac{\sqrt{f(M) f(m)}}{f\left(\frac{M+m}{2}\right)}\right)^{2\left(1+\left|\frac{M+m-2x_i}{M-m}\right|\right)} f(M+m-x_i) f(x_i),$$

which indicates

$$\frac{f(M) f(m)}{f(x_i)} \le \left(\frac{\sqrt{f(M) f(m)}}{f\left(\frac{M+m}{2}\right)}\right)^{2\left(1+\left|\frac{M+m-2x_i}{M-m}\right|\right)} f(M+m-x_i).$$

Completes the proof.

In the following, we concentrate on the Hermite-Hadamard-Mercer inequality. Notice that it has been shown in [4] that for convex function f on the interval [m, M],

$$f\left(M + m - \frac{a+b}{2}\right) \le \frac{1}{b-a} \int_{a}^{b} f\left(M + m - t\right) dt \le f(M) + f(m) - \frac{f(a) + f(b)}{2}.$$

Clearly, if $f:[m,M] \to (0,\infty)$ is log-convex, we have

$$\log f\left(M+m-\frac{a+b}{2}\right) \le \frac{1}{b-a} \int_{a}^{b} \log f\left(M+m-t\right) dt \le \log \frac{f\left(M\right)f\left(m\right)}{\sqrt{f\left(a\right)f\left(b\right)}}.$$
 (11)

Directly, if we apply exp to both sides of (11), we infer that

$$f\left(M+m-\frac{a+b}{2}\right) \le \exp\left(\frac{1}{b-a}\int_{a}^{b}\log f\left(M+m-t\right)dt\right) \le \frac{f\left(M\right)f\left(m\right)}{\sqrt{f\left(a\right)f\left(b\right)}}.$$

The following theorem furnishes another variant of Hermite-Hadamard-Mercer inequality.

Theorem 2.4 Let $f : [m, M] \to (0, \infty)$ be a log-convex function and let $a, b \in [m, M]$. Then

$$\begin{split} &f\left(M + m - \frac{a+b}{2}\right) \\ &\leq \int_{0}^{1} \sqrt{f\left((M + m - ((1-t)a + tb))\right) f\left((M + m - ((1-t)b + ta))\right)}} dt \\ &\leq \frac{f\left(M\right) f\left(m\right)}{\sqrt{f\left(a\right) f\left(b\right)}}. \end{split}$$

Proof. It observes from the supposition that

$$f\left(\frac{a+b}{2}\right) = f\left(\frac{\left(\left(1-t\right)a+tb\right)+\left(\left(1-t\right)b+ta\right)}{2}\right)$$

$$\leq \sqrt{f\left(\left(1-t\right)a+tb\right)f\left(\left(1-t\right)b+ta\right)}$$

$$\leq \sqrt{f\left(a\right)f\left(b\right)}.$$
(12)

Substituting a and b by M + m - a and M + m - b in (12), we reach

$$f\left(M + m - \frac{a+b}{2}\right) \le \sqrt{f\left((M + m - ((1-t)a + tb))\right)f\left((M + m - ((1-t)b + ta))\right)}$$
(13)
$$\le \sqrt{f(M + m - a)f(M + m - b)}.$$

Integrating over $t \in [0, 1]$, in (13), we obtain

$$\begin{split} &f\left(M + m - \frac{a+b}{2}\right) \\ &\leq \int_{0}^{1} \sqrt{f\left((M + m - ((1-t)a + tb))\right) f\left((M + m - ((1-t)b + ta))\right)} dt \\ &\leq \sqrt{f\left(M + m - a\right) f\left(M + m - b\right)} \\ &\leq \frac{f\left(M\right) f\left(m\right)}{\sqrt{f\left(a\right) f\left(b\right)}}, \end{split}$$

where the last inequality follows from (3). This ends the proof.

We present Fejér-Mercer inequality in the coming result.

Theorem 2.5 Let $f : [m, M] \to (0, \infty)$ be a log-convex function, let $a, b \in [m, M]$, and let $p : [0, 1] \to (0, \infty)$ be continuous. Then

$$\begin{split} &\int_{0}^{1} p(t) dt f\left(M + m - \frac{a+b}{2}\right) \\ &\leq \int_{0}^{1} p(t) \sqrt{f\left((M + m - ((1-t)a + tb))\right) f\left((M + m - ((1-t)b + ta))\right)} dt \\ &\leq \int_{0}^{1} p(t) dt \frac{f(M) f(m)}{\sqrt{f(a) f(b)}}. \end{split}$$

Proof. If we multiply the inequality (13) by p(t), we obtain

$$p(t) f\left(M + m - \frac{a+b}{2}\right)$$

$$\leq p(t) \sqrt{f((M + m - ((1-t)a + tb))) f((M + m - ((1-t)b + ta)))}$$

$$\leq p(t) \sqrt{f(M + m - a) f(M + m - b)}.$$

Integrating over $t \in [0, 1]$, we reach to

$$\begin{split} &\int_{0}^{1} p(t) dt f\left(M + m - \frac{a+b}{2}\right) \\ &\leq \int_{0}^{1} p(t) \sqrt{f\left((M + m - ((1-t)a + tb))\right) f\left((M + m - ((1-t)b + ta))\right)} dt \\ &\leq \int_{0}^{1} p(t) dt \sqrt{f(M + m - a) f(M + m - b)} \\ &\leq \int_{0}^{1} p(t) dt \frac{f(M) f(m)}{\sqrt{f(a) f(b)}}, \end{split}$$

where the last inequality obeys from (3).

Acknowledgment

We thank the anonymous reviewers for carefully reading our manuscript and for many insightful comments and suggestions. This work was financially supported by Islamic Azad University, Ferdows Branch.

References

- [1] S. S. Dragomir, Bounds for the normalised Jensen functional, Bull. Austral. Math. Soc. 3 (2006), 471-478.
- [2] L. Fejér, Über die fourierreihen, II, Math. Naturwise. Anz Ungar. Akad. Wiss. 24 (1906), 369-390.
- [3] J. Hadamard, Étude sur les proprits des fonctions entiéres et en particulier dune fonction considérée par Riemann (French), Journ. de Math. 58 (1893), 171-215.
- M. Kian, M. S. Moslehian, Refinements of the operator Jensen-Mercer inequality, Electron. J. Linear Algebra. 26 (2013), 742–753.
- [5] A. McD. Mercer, A variant of Jensen's inequality, J. Inequal. Pure Appl. Math. 4 (2003), 2:73.
- [6] H. R. Moradi, S. Furuichi, M. Sababheh, On the Operator Jensen-Mercer Inequality, Operator Theory, Functional Analysis and Applications, Birkh'auser, Cham 282, 2021.
- [7] L. Nasiri, A. Zardadi, H. R. Moradi, Refining and reversing Jensen's inequality, Oper. Matrices. 16 (1) (2022), 19-27.
- [8] M. Sababheh, S. Furuichi, H. R. Moradi, Composite convex functions, J. Math. Inequal. 15 (3) (2021), 1267-1285.
- [9] M. Sababheh, H. R. Moradi, S. Furuichi, Operator inequalities via geometric convexity, Math. Inequal. Appl. 22(4) (2019), 1215-1231.
- [10] M. Sababheh, H. R. Moradi, Radical convex functions, Mediterr. J. Math. 18 (2021), 18:137.